Physics 11 — Conservation of Energy


Name:________________________

1. A 2.00 kg pendulum is lifted to 1.45 m above its lowest point.  

a. Draw a diagram of this. (1 mark)

b. How fast is it moving after it has fallen to 0.80 m above its lowest point? (ignore friction) (4 marks)

c. After 10 swings, the pendulum is moving at 4.25 m/s.  How much energy was lost to friction? (4 marks)

ANSWERS

1 
a) {picture}
b) Find Ep Total = 28.42   Ep = mgh = 2(9.8)(1.45) 


Ep + Ek = Em 


Then find new Ep using new height -  (2)(9.8)(0.8) = 15.68

Subtract Em – Ep = Ek 

Solve for Velocity = 3.5 m/s

c) Eptotal = 28.42

Ek new = 0.5(2)(4.25) = 18.06

Energy lost to friction = 10.36 j

